= O
N & O & AF &2 H Al A
2010EIE 2OI& 2BHS|H FSXHD ~ FAKNDY
SN EEXHD
HE: =) BY N (AEI=R/F)
ol EHEF KA (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o bRz
Fe XD 6,790,472 3,691,859 3,098,613
z 2,531,000
= 764,600
Al 3,494,872
=3 B W (ABI=X /=) 6,131,504 2,752,180 3,379,324
z 2,531,000
= 760,000
Al 2,840,504
=& Ko 6,131,504 2,752,180 3,379,324
z 2,531,000
= 760,000
Al 2,840,504
S& =HBINM 40,400 40,000 400
201 Lpr2oy| 400 0 400
01 ALR eIt 400 0 400
OFaza NASel 400
—ZeDhy BaINE M
2002 * 10004 * 102 200
~THAHCHE RIZF 21 2008 = 10004 * 10 200
402 RIAX20IH 40,000 40,000 0
01 PIZTEBE 40,000 40,000 0
OSEBIEHYIAL 1,000,000%! * 405 40,000
DEFY T 93,680 154, 180 260,500
201 Yer2 Y| 1,680 1,680 0
01 AR eIt 1,680 1,680 0
OSYINNBR (ZLINAASIAE] BALY)
70,0002 * 6% * 23] 840
OZsxepEzang
EEE D ENEE 70,0008 * 6% * 23l 840
A3 BALY)
301 LB A 2,000 2,500 A500
10 BAEI 243 2,000 2,500 A500
OZSZe AFMEY BSEA(ASAAYIZY) 1,000
—of bl 20,0002 * 2% + 52 * 53| 1,000
OSHREHZ BSTA(ASAAH L) 1,000
—of bl 20,0002 * 2% * 52 * 53| 1,000
402 DIZHRHROIH 90,000 150,000 60,000
IES S 90,000 150,000 60,000
OZSZe2EITNAANY
30,000,008 * 394 90,000
SA FAHBANE(2) 5,562,000 2,558,000 3,004,000
z 2,531,000
= 760,000




SN ST ED
B F0| 8 e (Atsl =K /Ee)

el =HEE e (el &)
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0] &F o e HlE2
Al 2,271,000
201 et 13,680 10,512 3,168
01 AtS22lHl 13,680 10,512 3,168
OHEEME FAHSZEMLEAEAY CIXE
EEEaESy 13,680
—2CUI0IE wSH
24,0008 » 108 » 128 2,880
—33CIUloIe AlHI  20,000& * 108 * 12& 2,400
—ZC0Uoe &g
70,000& » 108 = 128 8,400
301 et 31,188 62,376 A31,188
12 JIEtE A= 31,188 62,376 A 31,188
ONngaats =HESZIMEAEASE WP 31,188
—UEMNP=Z 2,160,000& » 1H * 63 12,960
— K&+ 1,519,000& * 29 « 63 18,228
401 Al&HI YR OHYI 5,517,132 2,485,112 3,032,020
& 2,531,000
= 760,000
Al 2,226,132
01 Al&HI 5,490,631 2,467,235 3,023,396
OZMEX 7 EAF=HEZINEAS
748,000,000& * 1JHA * 99.325/100 742,951
= 374,000
= 112,900
Al 256,051
ONEeEateE F=HEZME AIHALY
1,264,000,000& * 1JHZ +  95.8923/100 1,212,079
= 632,000
= 189,600
Al 390,479
O8ABX 7 TAF=HBEMNL A
356,000,000 * 1JHZ * 99.28/100 353,437
= 178,000
= 53,400
Al 122,037
OguWEXN7F SA=HEZINEAZ
2,054,000,000& = 1JHz * 99.64/100 2,046,606
= 1,027,000
& 308,100
Al 711,506
OtEON 7 SAFHEZIHEASE
640,000,000& * 1JHA * 99.3059/100 635,558
= 320,000
& 96,000
Al 219,558
OZMEX 7 SAIFHESZ NS ALY
500,000,000& * 14 500,000
03 AIZ20bl 26,501 17,877 8,624




COFEXA
DE EZ O (MEIER/FE)
CFEAHEE N

_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES &hoh ‘Oﬁ,‘\jg‘; Hws2
OBABXT TAIFENEY N At
748,000,0002! * 1A * 0.675/100 5,049
ONFEAE FHSZML AEAL
1,264,000,0002 * 194 * 0.5579905/100 7,053
OMABIT SAIFAHSZNAA
356,000,00081 * 14 * 0.7199/100 2,563
OBLBAT SAIFHSZNEAY
2,054,000,0002! * 144 * 0.35998/100 7,394
OBFEOINT SAIFHSZNAAL
640,000,0002! * 1JHA * 0.694/100 4,442
SAFEHEZINE () 435,424 0 435,424
201 Lere | 3,456 0 3,456
01 At222/H| 3,456 0 3,456
OBTZAS QIA2I} 39 FALG 3,456
— DSl 26,0002 * 3% * 12 « 128 936
—slojaasy
70,0008 * 3% * 12 « 128 2,520
301 LerE Az 31,968 0 31,968
12 JIEtR A2 31,968 0 31,968
OZZUS ULA2I 2 31,968
—3T/ASIL &Y 888,008 * 3 » 128 31,968
401 N&HIYL2 Y] 400,000 0 400,000
01 Al& 400,000 0 400,000
OgnE sUlllg =4 300,000
EL] 300,000,0008 * 14! 300,000
OZMB FUHEZS BYSX W
100,000,0008 = 14| 100,000
AEHUH (ZELXAML/XNALTAI) 126,176 116,626 9,550
AN A=Y 126,176 116,626 9,550
A=HY 0l - 50} 119,276 113,826 5,450
201 Lere gl 14,676 9,226 5,450
01 At222/t| 14,676 9,226 5,450
OAZQI5t MAIRO 1008 » 155 50004 750
OAE5IIt HiolH R 15,0008 * 10% 150
OAEYRANLE 7Y 10,0008 * 12 100
OA=As 10,800
—9l9l #& 42 70,0008 * 10 * 83 5,600
—AF® AAb &2 30,0008 * 10 * 83 2,400
—olg &4 ol 70,0008 * 5% * 83] 2,800
OASAHBL 222
(GIDtLAFRZ 230,008 * 1/8 » 1002 2,876
OIAAN XIS




oF
R’

ok
ol

_H.III’ ~ JQ
’r &0 ™
R %0 7
TR RO
Kk & 80

= A

X ZH
=

r
0

e

n0

KIo

Bl w

4,100
100
100

4,000
4,000

A268,703

N264,291

LH3r
m<l
Rk

1,400
1,400
4,200
4,200
99,000
99,000

2,800
700
700

2,100
2,100

642,577

492,830

=
o

s

<J

1,400
1,400
1,400
4,200
4,200
4,200
3,000
1,200
99,000
99,000
99,000

6,900
800
800

100

100
300
200
200
2,100
2,100
2,100
4,000
4,000
4,000

373,874

iy

4,600
369,274

228,539

Al

4,600
223,939

iy

=
=)

3

2l x 6}

2l % 3

xH)
1,000,000 * 34

200,000
33,000,000

2|

2« 102« 2% x|

e

o
[uins

Xl

70,000

F
H A=

il

t

=LH0dbl
12 JIEt
— S A=

01

202 O

4
ol

o
L
A
il

ol

X
iy
il
7
i
A

=
e

3
2l o« 104

greld A

2 x 20

e
[l

=]

F
NS
200 * 10004 * 10&

100,000 * 1&
CH
15,000
NS
200& * 10004 * 10&
c

o+ 1« 28 15
4,000,000

b

tel 3t

2
e

Jl =

2 REFIE
70,000

S SdIA
]|

=

=

=04l
OFal

01

202 O
405 Xt

I

ok

ok

RO
0

-

Rr

Hatel

10,000
10,000

7,970
7,970
4,370

17,970
17,970
4,370
1,250

Al
* 5& * 5,0000H

2|

=

50%

[0)
el

Al |

teld
O&EX 0|

01 At

EX0ls Ee




SN TSR ED
o NN (FELXANL/NSLTAI)
chel XIE 22

- < - PSS I =
2N -3 - c2(3H) - NEME - HES 0] Ao @E% Hl =2
OXHEZE TP 30,0002 * 2A x 6Z 360
OXXoIg HH™EY|l 22 500
—Z2A(AE) 500,000 * 1CH 500
ogtesatsllz=el £ S
600,000 * 20§ * 13 1,200
OPSH(LIZ ) 120,0008 * 48tA * 23] 960
OXNEAFHNHI AR ES ST EZS N Z
1002 * 1,000& * 13| 100
02 222%H| 13,600 3,600 10,000
OXNHZE(RUE)IAIAHZZ] - S/W SXI=e
150,000 * 12& 1,800
OXNHEIZSHAMAAL - S/W S22
150,000 * 122 1,800
OXXEII=Z2 BR= 10,000,000 14l 10,000
KEMA S DD 34,869 19,250 15,619
101 Q14 5,919 5,760 159
04 JIZtH2Z2NEES 5,919 5,760 159
OXNEZHHAG ol
32,8802 * 2H » 90 * 13| 5,919
201 LEt2HH| 12,950 13,490 540
01 AtRZ2lH] 6,650 6,650 0
OXNEZHMAX AR (DR
25,0002 * 128tA 300
OXNEMAZH =232X(A0) 2L
250,000 * 6EIA 1,500
OXNEFMZTHEHEI (Z2AHZEE )Y
20,0008 » 302t A 600
OXNEEMCH Z22z E2H 37
1,850,0008 * 1HIE * 13 1,850
OXNEMAZH LARLTRIEHI| EH(4M)
1,200,000 = 1CH * 23] 2,400
02 222%H| 6,300 6,840 A540
OXNECHAMAS AARZZ] S/WSXE
100,000 * 122 1,200
OXNE=SEZIHE THAX 100,000 * 35& 3,500
OSII(ESAHOIE)SX B 4H
800,000 = 20§ * 13| 1,600
207 O ROH e 16,000 0 16,000
02 HAHHEHH 16,000 0 16,000
OEXNEEANAY MMAR2 S/W(auto cad) P
el 4,000,000 * 44l 16,000
BEA ALA BHE L NESYH 2e| 5,160 5,160 0
201 LEt=2AH| 5,160 5,160 0
01 AFR2t2lH] 5,160 5,160 0




SN

TR

U IEUE(IELXANL/NSLEA)
chel: X2 (el a2
_ _ _ Muo
SN -BH - S(B) - MRAY - BES Ofl &k 04 il b o HRE2
OXIHoIal ®E ol 202 = 55 = 30,00004 3,000
OXHRIE 2#Z SAZX (MSX)
13,0002 * 1024 * {22 1,560
OIE) £5 2 8% 50,0008 * 20H + 63 600
TRYEL AY 155,207 53,900 1,307
101 01 24| 11,837 11,520 317
04 JIAHIZRS 24 11,837 11,520 317
OTZYFAANY o2y
32,8802 * 3% » 1202 11,837
201 YBr2 ] 111,690 23,020 88,670
01 Al 22l 111,600 20,520 91,170
OEZYFAAY 45,100
—AAE ST 2 500,000 * 23] 1,000
—-E2H RX22 500,000 « 13] 500
~-226 87 30,000 + 402 1,200
—E26 93 80,0002 * 65 53l 2,400
—OHYRUS(BNENE ) ME
1,000 * 40,0005 40,000
OE2¥=4 X 64,910
—1% 2BDX
(1441l 90 + LTE 2502) * 45,0002 7,650
% 0.5
—2% SBDX
(1441l 90 + SLBE 1,7509) * 45,000 37,260
2% 0.9%0.5
—DXBY ME 22U L DXAYS K0
bl 20,000, 0002 20,000
OMZE2 218l B4
70,0002 * 128 23] 1,680
202 OfHl 1,680 3,360 A 1,680
01 =UofHl 1,680 3,360 A 1,680
OS2YFAAY £ SXEA 0/H)
70,0008 * 22 * 1% * 128 1,680
206 T2 H| 6,000 6,000 0
R ET 6,000 6,000 0
OE2YFALRO0M 6,000
—ANES SASE 2 1,000,008 * 23] 2,000
—AIES BEALXI P 1,000,0008 * 38 3,000
—ASPST(BNS) PY 50002 * 2000H 1,000
401 AlEBIZ 2 ThY| 24,000 100,000 76,000
01 Al 24,000 100,000 76,000
OZ2YFA O AILE & 2 KA 2 24,000




SN TSR ED
o NN (FELXANL/NSLTAI)

¢ XE22 (&9 HM
_ ) _ pofEN
SAN-ZH-SA(FA) - NFAY - BES (il & OH bﬂ/‘\_“’” Hlw &2
—SE2gE 4X ¥ sz
450,000& * 204 9,000
—Ad28sE 41X € |2
15,0002 * 1,0009H 15,000
SESANEEAL () 15,333 0 15,333
< 4,600
Al 10,733
101 el 10,000 0 10,000
< 3,000
Al 7,000
04 JIZtHIZZ2SE=> 10,000 0 10,000
OSZ3EX SEAY 22Y
0,000& = 125 = 29 10,000
< 3,000
Al 7,000
201 LEH2HH| 2,000 0 2,000
[ 600
Al 1,400
01 AtR2teld] 2,000 0 2,000
OZZEX SHUHATH ESEXI(A0) 7L
250,000& = 3=t 750
= 225
Al 525
O=38X SYUUATH g LI E)D)]
S (44) 1,000,000 = 1CH = 13l 1,000
[ 300
Al 700
OJIet ARE2SH| 25,000& » 102 250
< 75
Al 175
202 O 3,333 0 3,333
< 1,000
Al 2,333
01 2o 3,333 0 3,333
OZ2=EX SEAMY =& O
666,600 * 5% 3,333
[ 1,000
Al 2,333
Xot&te] 145,335 149,747 N4,412
HESAIXIDE A 145,335 149,747 N4,412
101 el 20,386 19,840 546
04 JIZtHIZZ2HSE=> 20,386 19,840 546
OMESAIXIIE ZAF 2122 20,386
— Kot i 23
32,880 » 2& » 602 * 13 3,946




SN TSR ED
By IHSF(ZELXGNL/NALZA)

el X otael (el &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
—ENSHZARE
32,8802 * 10 * 502 * 1] 16,440
201 2er2 | 124,949 129,907 ~4,958
01 ALR eIt 106,549 106,507 42
OXJIES HAXZ HAS DTY
25,0008 * 122t~ 300
OLIBWIIA AZ 248 81,039
—FHIAB(1B1Y IIFE)
40,0002 * 170,000 XI/62Z K| * 50% 54,839
—ANEE EXNHS
40,0002 * 2002 X| * 50% 4,000
—0lolME EXAS
40,0008 * 200Xl * 50% 4,000
—28 8y S EXOISE AS
(721 40,0008 * 2,500 Xl * 50% * 30% 15,000
2| F)
—HERLT MF RRHAEX
2WALR 2,000,000,0002 * 8/10,000 * 23] 3,200
OMgHlg 2E £42 1,600,008 * 33 4,800
OEXSH ZAE L ZFEAN R0
50,0008 * 302~ 1,500
OZAMUY ZXS KO 50,0008 » 3082 1,500
OMEBATI MHFEA R0
50,0008 * 302~ 1,500
OMEBAIKI ZHSXS ol
70,0008 * 402~ 2,800
OMEBAX} ZHEXES 28
30,0009 * 408t 1,200
OXJIEAL Ot 2B, 22X 2D
SR ES 60,0002 * 13044 * 43] 3,120
ORSH BIIRIRE &H 22
70,0002 * 12 * 63l 5,040
OXJIE® B2E BT (A0)7Y
35,0002 * 508 1,750
OXJIE Y B2E Y7L (44)
40,0002 * 505 2,000
2 T2 18,400 23,400 A5,000
OXJIHEE BALAY ST 2 B4
200,0002 * 122 2,400
OMEBAXI ZHEXS SBYN 25
2502 * 50,0000 12,500
OD=0IF ZIEJI(ROSE 1) 22l L
2X 2 250,0002 * 128 3,000
A
OXNJIBEEH Has B2H |K « 24
250,0002 * 2CH * 13l 500
A 2AAY (AR D) (JIEHIIE) 58,918 180,476 ~21,558




S =T N
I FYSSAHI(FANFD)(OIEHIIE)
CHel: ol 2| (2o &a
FA-ZH-S2ARH) - MFAY - BES Off &k o Bl Hlns2
Off &+ 4
ol 2| 5,640 5,412 228
ol 2| 5,640 5,412 228
203 AR FAH| 4,440 4,212 228
04 PASARETY| 4,440 4,212 228
OFESN= D 4,440
—SAN2LLRFTH| 370,0002 * 12 4,440
204 XA 1,200 1,200 0
01 HAUZ AR LAY 1,200 1,200 0
OFUNHUY HZYRFAY|
100,00021 * 19 * 122 1,200
J=3l 153,278 175,064 21,786
J=3l 153,278 175,064 ~21,786
201 Yer2dy| 31,558 33,704 ~2,146
01 Ar=Rateltl 31,558 33,704 2,146
O=AEX 13,0008 » 348tA « 128 5,304
OS2 OHAl 5,0008 * 64 * 34% « 12 12,240
Ot = 100,0008 * 128 1,200
OAR2 AP 50,0002 * 128 600
OARR2 4t 13,680
—=2AD| *2 500,0008 * 2CH 1,000
—Z2H 100,0002 * 8CH * 50/100 400
— S A 200,0002! * 53] * 204 2,000
—Z2H 200,0002! * 53| * 8CH 8,000
—ZATRAE L 200,008 * 53 * 104 1,000
—pc==2l 1000002 * 34CH * 20/100 680
—JIEt Zdl=el 50,0002 * 122 600
OJIEt AREEHI 5,0008 * 342 » 128 2,040
ool ab =2 35,064,0002 * -10/100 ~3,506
L] 121,720 141,360 19,640
2ot 121,720 141,360 /19,640
OFSX XY ALEX 01t 121,720
—ZHLHOIHI 20,0002 * 34Y * 122 * 12 97,920
— 2ol 70,0008 * 102 * 34 23,800




